

Local conservation laws for the two-dimensional periodic $SU(n+1)$ Toda lattices

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1982 J. Phys. A: Math. Gen. 15 3405

(<http://iopscience.iop.org/0305-4470/15/11/017>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 129.252.86.83

The article was downloaded on 30/05/2010 at 15:01

Please note that [terms and conditions apply](#).

Local conservation laws for the two-dimensional periodic $SU(n+1)$ Toda lattices

R S Farwell[†] and M Minami[‡]

[†] Blackett Laboratory, Imperial College, London SW7 2BZ, England

[‡] Research Institute for Mathematical Sciences, Kyoto University, Kyoto 606, Japan

Received 21 April 1982

Abstract. An infinite number of local conservation laws are derived for the two-dimensional periodic $SU(n+1)$ Toda lattice equations following the well known method for the sine-Gordon equation.

This is a short communication, which is a sequel to our previous paper (Farwell and Minami 1982b, to be referred to as II), where we demonstrated that the two-dimensional equations for the periodic $SU(n+1)$ Toda lattices are equivalent to two first-order differential equations, called the Kac–van Moerbeke (KVM) equations. Paper II naturally arose as a consequence of our earlier work on the two-dimensional Toda lattices governed by classical simple groups (Farwell and Minami 1982a to be referred to as I).

The existence of the KVM equations produces, in addition to the Bäcklund transformations discussed in II, a formal way of deriving an infinite series of local conservation laws. It is the method of deriving the conservation laws which we consider here. It is orthodox in the sense that it follows the well known method for the sine-Gordon equation. We can apply this approach, since, as was explained in II, the two-dimensional periodic $SU(n+1)$ Toda lattice equations are generalisations of the hyperbolic sine-Gordon equation. For a review on conservation laws, in particular for the sine-Gordon equation, we refer the reader to Chau's paper (Chau Wang 1980), which contains further useful references.

Firstly, we shall provide a resumé of the mathematical techniques and results developed in II and which we shall require here.

We define $\pi^+ = (\alpha_1, \alpha_2, \dots, \alpha_n)$ and $\mu \equiv -\alpha_{n+1}$ to be the set of positive simple roots and the maximal root of the classical Lie algebra, \mathfrak{a}_n , respectively. Then the $(n+1) \times (n+1)$ matrix K with entries

$$K_{ij} = 2\alpha_i\alpha_j/(\alpha_j)^2 \quad i, j = 1, 2, \dots, n+1$$

is the extended Cartan matrix defined by (2.2) in II. K determines the Euclidean Lie algebra $\mathfrak{a}_n^{(1)}$ (Helgason 1978), which is associated with periodic $SU(n+1)$ Toda lattices. Its $3(n+1)$ canonical generators, $E_{+\alpha}$, $E_{-\alpha}$ and H_α , satisfy for $\alpha, \beta \in \bar{\pi} = \pi^+ \cup (-\mu)$,

$$\begin{aligned} [H_\alpha, H_\beta] &= 0, & [H_\alpha, E_{\pm\beta}] &= \pm K_{\beta\alpha} E_{\pm\alpha}, & [E_\alpha, E_{-\beta}] &= \delta_{\alpha\beta} H_\alpha \\ (ad E_{\pm\alpha})^{1-K_{\beta\alpha}} (E_{\pm\beta}) &= 0 & \alpha &\neq \beta \end{aligned} \quad (1)$$

(Serre 1966). If we use the representations for $E_{\pm\alpha}$, H_α , $\alpha \in \pi^+$ and the ordering of the positive simple roots given in I, then

$$H_{\alpha_{n+1}} = e_{n+1n+1} - e_{11} \quad E_{+\alpha_{n+1}} = -e_{n+11}, \quad E_{-\alpha_{n+1}} = -e_{1n+1}. \tag{2}$$

In terms of these generators, we can define gauge potentials, B_μ and B_π , as

$$B_u = B_u^e + B_u^h \quad B_{\bar{u}} = B_{\bar{u}}^e + B_{\bar{u}}^h \tag{3}$$

where

$$B_u^e = \sum_{\alpha \in \bar{\pi}} e^{\tilde{\sigma}_\alpha} E_{-\alpha} \quad B_{\bar{u}}^e = - \sum_{\alpha \in \bar{\pi}} e^{\sigma_\alpha} E_{+\alpha} \tag{4}$$

$$B_u^h = \sum_{\alpha \in \bar{\pi}} (\partial_u \psi_\alpha) H_\alpha \quad B_{\bar{u}}^h = - \sum_{\alpha \in \bar{\pi}} (\partial_{\bar{u}} \check{\psi}_\alpha) H_\alpha. \tag{5}$$

Here we have used

$$\sigma_\alpha = - \sum_{\beta \in \bar{\pi}} K_{\alpha\beta} \psi_\beta \quad \tilde{\sigma}_\alpha = - \sum_{\beta \in \bar{\pi}} K_{\alpha\beta} \check{\psi}_\beta \tag{6}$$

which automatically satisfy

$$\sum_{\alpha \in \bar{\pi}} \sigma_\alpha = 0, \quad \sum_{\alpha \in \bar{\pi}} \tilde{\sigma}_\alpha = 0. \tag{7}$$

From the zero field-strength condition it may be inferred that B_u^e , B_u^h , $B_{\bar{u}}^e$ and $B_{\bar{u}}^h$ satisfy the relations

$$\partial_{\bar{u}} B_u^e = [B_u^e, B_{\bar{u}}^h] \tag{8a}$$

$$\partial_u B_{\bar{u}}^e = [B_{\bar{u}}^e, B_u^h] \tag{8b}$$

$$\partial_{\bar{u}} B_u^h - \partial_u B_{\bar{u}}^h - [B_u^e, B_{\bar{u}}^e] = 0. \tag{9}$$

The equations (8) and (9) are just the subsidiary and main equations of I and hence the latter gives the periodic $SU(n+1)$ Toda lattice equations, namely

$$\partial_u \partial_{\bar{u}} (\sigma_\alpha + \tilde{\sigma}_\alpha) = - \sum_{\beta \in \bar{\pi}} K_{\alpha\beta} \exp(\sigma_\beta + \tilde{\sigma}_\beta).$$

We now introduce a cyclic permutation matrix E defined by

$$E = \sum_{\alpha \in \bar{\pi}} E_{+\alpha}. \tag{10}$$

This matrix has a similar effect to the one introduced in §5 of II except that now $E^{n+1} = -I$. The introduction of E enables us to rewrite the KVM equations in the form

$$[B_u^h, E^{-1}] = \gamma^{-1} (B_u^e - E^{-1} B_{\bar{u}}^e E) \tag{11a}$$

$$[B_{\bar{u}}^h, E] = \gamma (B_{\bar{u}}^e - E B_{\bar{u}}^e E^{-1}) \tag{11b}$$

where γ is the parameter of the Lie transformation (Goursat 1925). It is straightforward to show that the KVM equations (11) are equivalent to the Toda lattice equations (9).

The first stage in the derivation of the local conservation laws involves the definition of two currents satisfying a continuity-type equation. We propose to use the currents

defined by

$$j_u = \text{Tr}(EB_u^e), \quad j_{\bar{u}} = -\text{Tr}(E^{-1}B_{\bar{u}}^e). \tag{12}$$

Since, by using equations (8) and (11),

$$\gamma^{-1}E\partial_{\bar{u}}B_u^e = \gamma^{-1}[EB_u^e, B_{\bar{u}}^h] + (B_{\bar{u}}^eB_u^e - EB_{\bar{u}}^eE^{-1}B_u^e)$$

and

$$\gamma E^{-1}\partial_u B_{\bar{u}}^e = \gamma[E^{-1}B_{\bar{u}}^e, B_u^h] + (B_u^eB_{\bar{u}}^e - E^{-1}B_{\bar{u}}^eEB_u^e)$$

their difference satisfies

$$\gamma^{-1}E\partial_{\bar{u}}B_u^e - \gamma E^{-1}\partial_u B_{\bar{u}}^e = \gamma^{-1}[EB_u^e, B_{\bar{u}}^h] - \gamma[E^{-1}B_{\bar{u}}^e, B_u^h] + [B_{\bar{u}}^e, B_u^e] + [E^{-1}B_{\bar{u}}^e, EB_u^e]. \tag{13}$$

By taking the trace of both sides of equation (13) and introducing j_u and $j_{\bar{u}}$ from (12), we see that the currents satisfy the continuity equation

$$\gamma^{-1}\partial_{\bar{u}}j_u + \gamma\partial_u j_{\bar{u}} = 0. \tag{14}$$

Substituting for B_u^e , $B_{\bar{u}}^e$ and E from (4) and (10) respectively, we find that j_u and $j_{\bar{u}}$ are explicitly given by

$$j_u = \sum_{i=1}^{n+1} \exp \tilde{\sigma}_i \quad j_{\bar{u}} = \sum_{i=1}^{n+1} \exp \sigma_i \tag{15}$$

where here and in the following we abbreviate σ_α with $\alpha = \alpha_i$ by σ_i and let the index i run modulo $(n + 1)$.

Now, an infinite set of conservation laws is derivable from (14). Firstly, we note from (11b) that at $\gamma = 0$, $[B_{\bar{u}}^h, E]$ vanishes and hence $\tilde{\sigma}_i = 0$, $i = 1, 2, \dots, n + 1$. So near $\gamma = 0$, we expand $\tilde{\sigma}_i$ in powers of γ as follows

$$\tilde{\sigma}_i = \sum_{k=1}^{\infty} \gamma^k c_i^{(k)}. \tag{16}$$

In terms of Toda's displacement variables introduced in (4.7) of II

$$\sigma_i = q_{i-1}^B - q_i, \quad \tilde{\sigma}_i = q_i - q_i^B$$

and hence using the expansion (16) we may write

$$q_i^B = q_i - \sum_{k=1}^{\infty} \gamma^k c_i^{(k)} \tag{17}$$

which itself implies

$$\sigma_i = q_{i-1} - q_i - \sum_{k=1}^{\infty} \gamma^k c_{i-1}^{(k)}. \tag{18}$$

By substituting (16) and (18) in (11a) and equating coefficients of powers of γ , we obtain equations relating $c_i^{(k)}$ for different values of k , for example

$$\partial_u(q_{i-1} - q_i) = c_i^{(1)} - c_{i-1}^{(1)} \tag{19a}$$

$$\partial_u c_i^{(1)} = c_i^{(2)} - c_{i+1}^{(2)} + \frac{1}{2}[(c_i^{(1)})^2 - (c_{i+1}^{(1)})^2] \tag{19b}$$

$$\partial_u c_i^{(2)} = c_i^{(3)} - c_{i+1}^{(3)} + (c_i^{(2)}c_i^{(1)} - c_{i+1}^{(2)}c_{i+1}^{(1)}) + \frac{1}{6}[(c_i^{(1)})^3 - (c_{i+1}^{(1)})^3] \tag{19c}$$

and so on. Moreover from (7) and (16), we note that

$$\sum_{i=1}^{n+1} c_i^{(k)} = 0 \tag{20}$$

for all values of k .

On the other hand, if we substitute (16) and (18) into the continuity equation (14), then, again by equating coefficients of powers of γ , we obtain an infinite series of continuity equations. The first few examples are

$$\partial_u \sum_{i=1}^{n+1} \exp(q_{i-1} - q_i) + \frac{1}{2} \partial_{\bar{u}} \sum_{i=1}^{n+1} (c_i^{(1)})^2 = 0 \tag{21a}$$

$$\partial_u \sum_{i=1}^{n+1} (c_{i-1}^{(1)} \exp(q_{i-1} - q_i)) - \partial_{\bar{u}} \sum_{i=1}^{n+1} c_i^{(1)} [c_i^{(2)} + \frac{1}{6} (c_i^{(1)})^2] = 0 \tag{21b}$$

$$\partial_u \sum_{i=1}^{n+1} \exp(q_{i-1} - q_i) [c_{i-1}^{(2)} - \frac{1}{2} (c_i^{(1)})^2] - \partial_{\bar{u}} \sum_{i=1}^{n+1} [\frac{1}{2} (c_i^{(2)})^2 + c_i^{(3)} c_i^{(1)} + \frac{1}{2} (c_i^{(1)})^2 c_i^{(2)}] = 0, \tag{21c}$$

where we have used the conditions (20).

Obviously we may write the continuity equations (21) in terms of the q_i only by using the constraint equations (19). In particular, if we choose

$$c_i^{(1)} = -\partial_u q_i \tag{22a}$$

as a solution of (19a), then the $c_i^{(k)}$, $k \geq 2$, are related to q_i by higher and higher orders of differentiation. For instance, from (19b)

$$c_i^{(2)} - c_{n+1}^{(2)} = - \sum_{j=i}^n \partial_u^2 q_j + \frac{1}{2} (\partial_u q_i)^2 - \frac{1}{2} (\partial_u q_{n+1})^2 \tag{22b}$$

where, from (20)

$$c_{n+1}^{(2)} = - \sum_{i=1}^n c_i^{(2)}.$$

Consequently (21a) may easily be rewritten as

$$\partial_u \sum_{i=1}^{n+1} \exp(q_{i-1} - q_i) + \frac{1}{2} \partial_{\bar{u}} \sum_{i=1}^{n+1} (\partial_u q_i)^2 = 0, \tag{23a}$$

(21b) becomes

$$\partial_u \sum_{i=1}^{n+1} [(\partial_u q_{i-1}) \exp(q_{i-1} - q_i)] + \partial_{\bar{u}} \left[\sum_{i=1}^n (\partial_u q_i) \partial_{\bar{u}}^2 \left(\sum_{j=1}^n q_j \right) + \frac{1}{3} \sum_{i=1}^{n+1} (\partial_u q_i)^3 \right] = 0 \tag{23b}$$

and so on.

By using the difference displacement variable

$$\rho_i = q_{i-1} - q_i$$

we may re-express (21a) without using the particular solution (22a). From (19a), we find that

$$\sum_{j=0}^{n-1} \left(\sum_{k=j}^{n-1} \partial_u \rho_{i+k+2} \right)^2 = \sum_{j=1}^{n+1} (c_j^{(1)})^2 + (n+1) (c_i^{(1)})^2 \tag{24}$$

and, hence by summing (24) from $i = 1$ to $n + 1$ and substituting in (21a), we obtain

$$\partial_u \sum_{i=1}^{n+1} e^{\rho_i} + \frac{1}{4(n+1)} \partial_{\bar{u}} \sum_{i=1}^{n+1} \sum_{j=0}^{n-1} \left(\sum_{k=j}^{n-1} \partial_u \rho_{i+k+2} \right)^2 = 0. \tag{25}$$

We shall consider this last equation explicitly for the algebra $\mathfrak{a}_1^{(1)}$, which is associated with the periodic $SU(2)$ Toda lattice. Since in this case $\rho_1 = -\rho_2$, (25) becomes simply

$$2\partial_u \cosh \rho_1 + \frac{1}{4} \partial_{\bar{u}} (\partial_u \rho_1)^2 = 0. \tag{26}$$

This is a well known continuity equation, since it is readily derivable from the sinh-Gordon equation by multiplying by $\partial_u \rho$.

We showed in II that it is possible to obtain from the KVM equation two combinations of variables, ρ_i and ρ_i^B , both of which satisfy the periodic $SU(n + 1)$ Toda lattice equation. Hence we could use

$$\sigma_i = q_{i-1}^B - q_i^B - \sum_{k=1}^{\infty} c_i^{(k)} \gamma^k$$

as an alternative to (18). In the resultant working, q_i^B and q_{i-1}^B replace q_i and q_{i-1} respectively in (19a) and the left-hand sides of (19b) and (19c) are replaced by $\partial_u c_{i+1}^{(1)}$ and $\partial_u c_{i+1}^{(2)}$ respectively. Obviously then ρ_i in (25), for example, is replaced by ρ_i^B .

It is apparent that we could also carry out the derivation of the conservation laws by expanding σ_i , $i = 1, 2, \dots, n + 1$ near infinity in inverse powers of γ . However, the subsequent infinite series of conservation laws can be obtained simply by interchanging u and \bar{u} in (23), because the system is 'dual' symmetric under the exchange

$$(\gamma, u, \bar{u}) \rightarrow (\gamma^{-1}, \bar{u}, u).$$

Furthermore, we can suggest another formal way of obtaining a set of conserved currents, by recalling that the Zakharov-Shabat equation

$$\partial_{\bar{u}} B_u - \partial_u B_{\bar{u}} - [B_u, B_{\bar{u}}] = 0, \tag{27}$$

i.e. equations (8) and (9), are just the compatibility condition of the two equations

$$\partial_u M = [M, B_u], \quad \partial_{\bar{u}} M = [M, B_{\bar{u}}]. \tag{28}$$

Then, by using (8) and (28), we can show that for n being a positive integer

$$\partial_u (B_{\bar{u}}^e M^n) + \partial_{\bar{u}} (B_u^e M^n) = [B_{\bar{u}}^e M^n, B_u] + [B_u^e M^n, B_{\bar{u}}]$$

and hence it is obvious that

$$\text{Tr}[\partial_u (B_{\bar{u}}^e M^n) + \partial_{\bar{u}} (B_u^e M^n)] = 0. \tag{29}$$

Consequently, we may define a set of currents

$$\tilde{j}_u^{(n)} = \text{Tr}(B_{\bar{u}}^e M^n), \quad \tilde{j}_{\bar{u}}^{(n)} = \text{Tr}(B_u^e M^n) \quad n = 1, 2, 3, \dots \tag{30}$$

which, by virtue of (29), satisfies the continuity equation

$$\partial_{\bar{u}} \tilde{j}_u^{(n)} + \partial_u \tilde{j}_{\bar{u}}^{(n)} = 0.$$

The conservation laws (23) may be reduced to one dimension by making the identification $u = \bar{u} \equiv t$. As in § 4 of I[†], if we reduce B_u and $B_{\bar{u}}$ given by (3) to A

[†] We should like to point out here that $L(0)$ in (4.7)–(4.11) of I should be read as $L_{(0)}$, because $L(t)$ does not necessarily reduce to $RL(t)R^{-1}$ as $t \rightarrow 0$. $L_{(0)}$ is to be defined by $L_{(0)} \equiv R^{-1}L(t)R^{-1}$.

and B respectively, then (27) becomes the Lax pair equation

$$\partial_t L = [L, A]$$

where $L = B - A$ and so is explicitly given by

$$L = - \sum_{\alpha \in \tilde{\pi}} (e^{\sigma_\alpha} E_\alpha + e^{\tilde{\sigma}_\alpha} E_{-\alpha}) - \sum_{\alpha \in \tilde{\pi}} \partial_t (\psi_\alpha + \tilde{\psi}_\alpha) H_\alpha. \quad (31)$$

As is well known, the conservation laws in the one-dimensional case are produced from

$$\partial_t \text{Tr } L^p = 0 \quad p = 1, 2, 3, \dots$$

The first non-trivial conserved current occurs for $p = 2$, when, from (31),

$$\text{Tr } L^2 = \sum_{i=1}^{n+1} \{[\partial_t (\psi_i + \tilde{\psi}_i - \psi_{i-1} - \tilde{\psi}_{i-1})]^2 + 2 \exp(\sigma_i + \tilde{\sigma}_i)\} \quad (32)$$

is a constant. By differentiating (32) with respect to t , we produce the same form of equation as from the reduction of (23a) (or equivalently (25)), since

$$\sigma_i + \tilde{\sigma}_i = q_{i-1}^B - q_i^B = \rho^B$$

and

$$\partial_t (\psi_i + \tilde{\psi}_i - \psi_{i-1} - \tilde{\psi}_{i-1}) = -\partial_t q_{i-1}^B = c_{i-1}^{(1)}.$$

However, it is not clear to us at present what are the roles of the parameter γ of the Lie transformation and of the 'dual symmetry' (or relativistic invariance) when the reduction to one dimension takes place.

The one-dimensional reduction presented in § 4 of I has recently been discussed by Aomoto in a different mathematical context (Aomoto 1982). His work may be relevant to ours since he considers a periodic system equivalent to the periodic Toda lattice in terms of an 'infinite-dimensional analogue' of the Iwasawa decomposition.

Finally, we should like to remark that there seem to be several different methods of obtaining infinite series of conservation laws; for example, that of Takhadzhyan (1974), used in the specific case of the sine-Gordon equation and of Mikhailov *et al* (1981) for two-dimensional Toda lattices. These different methods may combine to give insight into the general problem of conservation laws.

Acknowledgments

One of us (RSF) would like to acknowledge financial support from the Science and Engineering Research Council; and the other (MM) would like to thank Henrik Bohr for explaining the conservation laws for the sine-Gordon equation during the early stages of this work.

References

- Aomoto K 1982 *Lax equation and the spectral density of Jacobi matrices for orthogonal polynomials* (Nagoya preprint)
 Chau-Wang Ling-Lie 1980 in *Proc. 1980 Guangzhou Conf. on Theoretical Particle Physics* vol 2 (Beijing: Science) p1082
 Farwell R S and Minami M 1982a *J. Phys. A: Math. Gen.* **15** 25
 — 1982b *J. Phys. A: Math. Gen.* **15** 355.
 Goursat E 1925 *Le Problème de Bäcklund* (Paris: Gauthier-Villars)
 Helgason S 1978 *Differential Geometry, Lie Groups and Symmetric Spaces* (New York: Academic)
 Mikhailov A V, Olshanetsky M A and Perelomov A M 1981 *Commun. Math. Phys.* **79** 473
 Serre J P 1966 *Algèbres de Lie semi-simples complexes* (New York: Benjamin)
 Takhadzhyan L A 1974 *Sov. Phys.-JETP* **39** 228